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Whole life insurance benefit:

Ax = E
(
vKx+1

)
=

∞
∑
k=0

v k+1 k |qx

Pure endowment: nEx = vn npx = vn
lx+n
lx

Term insurance: A1x :n = Ax − nExAx+n

Endowment insuranceAx :n = A1x :n + nEx

Endowment insurance: Ax :n = Ax −n ExAx+n +n Ex
Endowment insurance (continuos case: benefit paid immediately
on death:

_
Ax :n =

i
δ
(Ax −n ExAx+n) +n Ex
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Life annuity due:

..
ax =

∞
∑
k=0

v k kpx =
∞
∑
k=0

..
ak+1 k |qx

Term annuity (due/in arrears):

..
ax :n =

..
ax − vn npx

..
ax+n

ax :n = ax − vn npxax+n

ax =
..
ax − 1

3 of 43



Ax = 1− d ..ax and
_
Ax = 1− δ

..
ax

Ax :n = 1− d ..ax :n
_
Ax :n = 1− δ

..
ax :n

..
ax :n =

1− Ax :n

d
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